AHC Additional Private Secretary English

Topic:- APSENG_GA_22DEC_S1

1)
Select the option that is related to the third term in the same way as the second term is
related to the first term :

CIP : FMU : : JEW :
(1) NJA (2) MIB (3) OHC (4) LGD
5% fased giT S d1E) 98 | 3T yeR Hafyd § 59 7R g9 U8 T80 9 ¥ HeEfyd ¥
CIP : FMU : : JTEW :
(I) NJA (2) MIB (3) OHC (4) LGD
[Question ID = 1][Question Description = 101_APS1_22Dec_Set1_Shift1_Q1]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]
2) Find the odd one out :
49, 121, 169, 225

(1) 49 2) 121 (3) 169 4) 225
= | 4 T 3 i

49, 121, 169, 225

(1) 49 @) 121 (3) 169 4) 225

[Question ID = 2][Question Description = 102_APS1_22Dec_Set1_Shift1_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3) Find the odd one out :

(1) DZ (2) UH 3) LQ 4) MP
fr= 1 9 fim 3@ wifsd .
(1) DZ (2) UH (3) LQ (4) MP

[Question ID = 3][Question Description = 103_APS1_22Dec_Set1_Shift1_Q3]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4)



Pointing to the actor on stage, Ravi says, “The lady is the wife of the grandson of my mother,
who has only one child”. How is Ravi related to the lady ?

(1) Father (2) Husband (3) Father-in-law  (4) Grandfather
TTH FHeAHR 1 SR ST H3d gU A 3 el o St T °f, formem v & 5= 8, & 91 et
%11 T TR 39 =it 9 gafia § 2

(1) fo (2) W (3) 9 (4) <
[Question ID = 4][Question Description = 104_APS1_22Dec_Set1_Shift1_Q4]
1. 1 [Option ID = 13]

2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5)

A man is facing north west. If he turns 135° in anticlockwise direction, then he is
facing :

(1) East (2) West (3) South west (4) South

T qEY SR Uy foon #i IR g fRu gu €1 R 9% ammEd foun o gu 135° gE §, o 39
7 forg faen 6 22
(1) @ (2) ufr=m (3) <& gfvem (4) <fao

[Question ID = 5][Question Description = 105_APS1_22Dec_Set1_Shift1_Q5]

1. 1 [Option ID = 17]

2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)
How many 5’s are there which are immediately followed by 3 and immediately preceded by

2 in the given sequence ?

325435268253978534253983527

1 1 (2) 2 3 3 (4) 4
few o9 § R 5 18 € o TEa 918 3 oK) i veet 2 3T §2
325435268253978534253983527

(1) 1 (2) 2 3) 3 4) 4

[Question ID = 6][Question Description = 106_APS1_22Dec_Set1_Shift1_Q6]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]




7)  Count the minimum number of straight lines needed to draw the following figure.

R

(1) 10 @) 11 (3) 12 4) 13
< T 3R R 9 & T e @ e R e Tl i stavasr € 2

1) 10 @) 11 3) 12 4) 13

[Question ID = 7][Question Description = 107_APS1_22Dec_Set1_Shift1_Q7]

1. 1 [Option ID = 25]

2. 2 [Option ID = 26]

3. 3 [Option ID = 27]

4. 4 [Option ID = 28]

8)
If the following words are arranged in alphabetical order then which word will be placed
second ?
Electron, Electric, Electrode, Elector

(1) Electron (2) Electric (3) Electrode (4)  Elector
frefafag sl &t PR SAis eee F SER FY 95 fRa AU a1 gE T W e 9 e
ST ?

Electron, Electric, Electrode, Elector

(1)  Electron (2)  Electric (3) Electrode (4)  Elector

[Question ID = 8][Question Description = 108_APS1_22Dec_Set1_Shift1_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) Unscramble the letters and find the odd one out.

(1) SPRIA (2) NPSIA (3) RNAI (4) LYTIA
Trefafea =Sl § 218l =t =rafea st fva s &1 wg=nfa )
(1) SPRIA (2) NPSIA (3) RNAI (4) LYTIA

[Question ID = 9][Question Description = 109_APS1_22Dec_Set1_Shift1_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)



Find the missing number in the following sequence by choosing the correct option : :

@)

@2 (2)
5)
2) 37

(1) 38 : 3) 36 4) 35
et foeshed o1 994 whid 3¢ faqw §& 91d ifsd -

85)
42 (D
5)
(1) 38 2) 37 (3) 36 @) 35

[Question ID = 10][Question Description = 110_APS1_22Dec_Set1_Shift1_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)
A certain sum of money lent on Simple Interest doubles itself in 5 years. In how many years
will it triple itself ?

(1) 7 years (2) 7.5 years (3) 10 years (4) 15 years
Tk AR WIER AT | 598 H I 8 SR 81 a4 ufer foad ol § i T 8 s 2
(1) 7&d 2) 75@H (3) 10 9d (4) 1594

[Question ID = 11][Question Description = 111_APS1_22Dec_Set1_Shift1_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)
A boatman goes 2 km against the current of stream in 1 hour and goes 1 km along the
current in 10 minutes. How long will he take to go 5 km in still water ?

(1) 40 min (2) 60 min (3) 90 min 4) 75 min
el o were i faudid feen § s Tifas 2 fedHe us 52 § S & 3T 9ge &1 feon §
1 faret Hex 10 fo=ei & sian €1 feor o § 5' fomaet @0 H 5 el dier 99 o ?

(1) 40 fa7e (2) 60 foe (3) 90 fAe (4) 75 foe



[Question ID = 12][Question Description = 112_APS1_22Dec_Set1_Shift1_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

3) What is the next number in the sequence :
326, 246, 183, 128, 84, _ ?

(1) 51 2) 52 (3) 53 4) 54
frerfafaa e 5 ol g #n e ?

326, 246, 183, 128, 84, _ 2

1) 51 @) 52 (3) 53 4) 54

[Question ID = 13][Question Description = 113_APS1_22Dec_Set1_Shift1_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14)
Identify the next figure in the sequence :

O @
(1) (2) (3)

(4)
e H T el ST ot b1 vgEf
o S
& /
(1) (3) (4)

[Question ID = 14][Question Description = 114_APS1_22Dec_Set1_Shift1_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15)



In a mixture of 80 litres, milk and water are in the ratio 5 : 3. If 16 litre of this mixture is
replaced by 16 litres of milk, what is the ratio of milk and water now ?

1) 6:3 @) 2:1 (3) 7:3 4) 8:3

e 80 witey fagor §, g4 ST Wt o ST 5: 371 39 fagw § § 16 wiet Fepen sar € &R fil
IHH 16 ©itet ¥ e a1 €1 o7 fagm 7 gy iR it o STara = g 2

1) 6:3 2 2:1 (3) 7:3 4) 8:3

[Question ID = 15][Question Description = 115_APS1_22Dec_Set1_Shift1_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)
If the second Saturday and all Sundays are holidays in a 31 day month beginning on a
Sunday, then how many working days are there in that month ?

Ly 23 (2) 24 (3) 25 4) 26

3R U 31 Te7 a1t g, forgen sy fe7 aan &, o guy wifan qen 9+ faar =1 ggt et & @
39 HE H fepa sre-feaw 872

(1) 23 (2) 24 (3) 25 4) 26

[Question ID = 16][Question Description = 116_APS1_22Dec_Set1_Shift1_Q16]

1. 1 [Option ID = 61]

2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)
How many numbers are there between 11 and 49 which are exactly divisible by 7 but not by
32

(1) 1 (2) 2 3) 3 (4) 4
11 921 49 & =g § Ui foraet ded € st 7 9 favrsa € ue 3 9 favss 768 €2
1) 1 @ 2 3) 3 4) 4

[Question ID = 17][Question Description = 117_APS1_22Dec_Set1_Shift1_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)
Bharat is 9 ranks ahead of Divyam who ranks twenty sixth from the top in a class of 42.
What is Bharat ‘s rank from the last ?

(1) 26th (2) 25th (3) 27th (4) 28th

42 STt hen o, o1 1 WIH fEord & H H 9 TR 8 afe fTorm &1 wa § SR 26 of @
T WG A YA WO § 2

(1) 264t 2) 254t (3) 274 (4) 284t

[Question ID = 18][Question Description = 118_APS1_22Dec_Set1_Shift1_Q18]
1. 1 [Option ID = 69]



2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)
Which of the following Venn diagram represents

Women, Teachers, Writers

1) . ) @ 3) @) @

fre 3 & - s
Hfaetl, S1eAT9%, wi@e i il T

M) . ) @ 3) @ @

[Question ID = 19][Question Description = 119_APS1_22Dec_Set1_Shift1_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20)
P, Q, R, S are seated in a row. Itis given that P and Q cannot be together and S cannot be in
the third place. Which of the following is incorrect ?

(1) Ris at the first place (2) R is at the second place
(3) Ris at the third place (4) R is at the fourth place
P,Q, R,S U Ufe H 3 gu &1 Ie fean gem & 5 P iR Q uepmny =i&f & 9o S o1 Ry v &l &

Hehal| =1 § 9§ HH-91 919 TTord 2 ?
(1) RUE TH WE (2) REELTIH WE
(3) RTEX M WE (4) REEWHRE
[Question ID = 20][Question Description = 120_APS1_22Dec_Set1_Shift1_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

Topic:- APSENG_COMP_22DEC_S1

D Which of the following is not a language for computer programming ?
(1) Windows (2) Pascal (3) Basic (4) Cobol
frerfafea o s us sreger dnfir o = & 2
(1) fa== (2) UTHERH (3) dfEs (4) <hETA



[Question ID = 321][Question Description = 121_APS1_22Dec_Set1_Shift1_Q21]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]

2) Which of the following is a ‘toggle key” keyboard ?

(1) Num Lock (2)  Shift (3) Enter (4)
frefafea § 9 $siivea W #4 9@t 2rme Fei ' €7
(1) Num Lock (2)  Shift (3) Enter (4)
[Question ID = 322][Question Description = 122_APS1_22Dec_Set1_Shift1_Q22]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]
3) The following are all computing devices, except :
(1) notebook computers (2) cellular telephones
(3) digital scanners (4) personal digital assistants
frefafea vt sifyerem o= €, faam .
(1) TeTH FFYX (2) HATHER TEHHA
3) fefsea =m (4) Tsit fefsea sfaeezm
[Question ID = 323][Question Description = 123_APS1_22Dec_Set1_Shift1_Q23]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]
3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]
4)
Junk E-mail is also called :
(1) Spam (2) Spoof (3) Sniffer script
Sk 3-Wel ol e © ¢
(1) =m (2) = (3) Fow fere

[Question ID = 324][Question Description = 124_APS1_22Dec_Set1_Shift1_Q24]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]
3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]

®) Computer virus is :

(1) a hardware (2) windows tool

(3) a computer program (4) a system software
FHEZRT AR T

(1) T EEER (2) foem g4

(3) UH HEHS YR (4) U fowy H@iRaw

[Question ID = 325][Question Description = 125_APS1_22Dec_Set1_Shift1_Q25]

Alt

Alt



1 [Option ID = 1297]
2 [Option ID = 1298]
3 [Option ID = 1299]
4 [Option ID = 1300]

A W N -

) Which device is a microprocessor based computing device ?

Mainframe
Sever

HA%HH
e

(1) Personal Computing (2)
(3) Workstation (4)
FIA-H1 ITHTT Teh HEsh! THHL-STHIRA Sk STt 8 2
(1) =R sifeped (TdFe w9 (2)
(3) T (4)

[Question ID = 326][Question Description = 126_APS1_22Dec_Set1_Shift1_Q26]

1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

7} The main reason to encrypt a file is to :

(1) reduce its size

(3) prepare it for backup

U WISA ol Fe HL 61 &I R
(1) IHh RN I FH H & fag
(3) SHHAY TUR FA & fau

secure it for transmission
include it in the start up sequence

IGk HERY okl GUfard s o fere
wWe-39 %49 ¥ giafaq &H F fau

[Question ID = 327][Question Description = 127_APS1_22Dec_Set1_Shift1_Q27]

1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

8)

Who is the founder of ‘Facebook” which is No. 1 social networking website in India ?
(1) Orkut Buy Cukkokten (2) Mark Zuckerberg

(3) Bill Gates (4) Martin Cooper

‘s’ S TR 9Rd # AL 1 J99Re T, I9H GE hiE © 2
(1) Sffehe FFnTR (2) I SehTeA
(3) foe ficm (4) ®IfA FR

[Question ID = 328][Question Description = 128_APS1_22Dec_Set1_Shift1_Q28]

1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]



%) Where is the headquarters of Intel located ?

(1) Gurugram, India (2) Richmond, Virginia
(3) Santa Clara, California (4) Geneva, Switzerland
Intel ($2E1) o1 AT Fal feod €2

(1) T®I™, 9d (2) Tamve, fagsitn

(3) Her FAm, Hfcwifan (4) Sian, fEeseie

[Question ID = 329][Question Description = 129_APS1_22Dec_Set1_Shift1_Q29]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]
3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]

100 The Internet is a system of :

(1) Software bundles (2) Web Pages

(3) Website (4) Interconnected networks
TS UF GHEA ¢

(1) WRIR TSeH (2) 99 TSH

(3) dSeEEE (4) FTFIRS ATTHY

[Question ID = 330][Question Description = 130_APS1_22Dec_Set1_Shift1_Q30]
1. 1 [Option ID = 1317]
2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]

1) The smallest unit of information about a record in a database is called a :

(1) Cell (2) Field (3) Record (4) Query
Teh 22EE H LR & I H SRR hi o DSl ShTE ol hed © ¢
(1) wa 2) Wiee (3) TS (4) ==&

[Question ID = 331][Question Description = 131_APS1_22Dec_Set1_Shift1_Q31]
1. 1 [Option ID = 1321]
2. 2 [Option ID = 1322]
3. 3 [Option ID = 1323]
4. 4 [Option ID = 1324]

12)
Portrait and landscape are :
(1) Page orientation (2) Page layout (3) Page margin (4) Page gap
URgE 3R AeEhT ©
(1) S ARE=yA (2) S R (3) S HIfSHA @) TSy
[Question ID = 332][Question Description = 132_APS1_22Dec_Set1_Shift1_Q32]
1. 1 [Option ID = 1325]
2. 2 [Option ID = 1326]

3. 3 [Option ID = 1327]
4. 4 [Option ID = 1328]

13)



In MS-Word, the Replace option is available on :

(1) File menu (2) Edit menu (3) Insert menu (4) Format menu

HUE-gE H, {ew faeey Suars 2 ¢
(1) Ed T (2 uezEyg (3) FTEE B (4) THHE B

[Question ID = 333][Question Description = 133_APS1_22Dec_Set1_Shift1_Q33]
1. 1 [Option ID = 1329]
2. 2 [Option ID = 1330]
3. 3 [Option ID = 1331]
4. 4 [Option ID = 1332]

%) What menu is selected to cut, copy and paste ?

(1) File (2) Tools (3) Special (4) Edit
e, Fid 3l T2 & foru -8 T R g 82
(1) e (2) 3™ (3) U (4) Twfez

[Question ID = 334][Question Description = 134_APS1_22Dec_Set1_Shift1_Q34]
1. 1 [Option ID = 1333]
2. 2 [Option ID = 1334]
3. 3 [Option ID = 1335]
4. 4 [Option ID = 1336]

15)
The graphical pictures on the computer screen that represent an object like file, folder etc.
are :

(1) task bar (2) windows (3) desktop (4) icons
FIPRT BRI W AerE fost St e, wieey, ganfe awgsi = feand ¢
(1) 2Rk 9R 2) faem (3) E&He™ (4) 3ATIHA

[Question ID = 335][Question Description = 135_APS1_22Dec_Set1_Shift1_Q35]
1. 1 [Option ID = 1337]
2. 2 [Option ID = 1338]
3. 3 [Option ID = 1339]
4. 4 [Option ID = 1340]

6) How many colours dots make up one colour pixel on a screen ?

(1) 28 2) 16 3) 8 4) 3
T T R fre 11 & foig w1 1 vk fuggd a9 2 2
(1) 28 2) 16 3) 8 4) 3

[Question ID = 336][Question Description = 136_APS1_22Dec_Set1_Shift1_Q36]
1. 1 [Option ID = 1341]
2. 2 [Option ID = 1342]
3. 3 [Option ID = 1343]
4. 4 [Option ID = 1344]

17)



Which of the following is an MS-DOS external command ?

(1) DIR 2) COPY (3) FORMAT (4)
frerfafea § #F-91 TH.0h, 2" 1 aRd eIy § 2
(1) Z1L3AE.AR (2) G (3) TRIHEZ (4)

[Question ID = 337][Question Description = 137_APS1_22Dec_Set1_Shift1_Q37]
1. 1 [Option ID = 1345]
2. 2 [Option ID = 1346]
3. 3 [Option ID = 1347]
4. 4 [Option ID = 1348]

18)
Which of the following is an Operating System ?

(1) Linux (2) Mozilla (3) Google Chrome (4)
frfafad & =0t e fawm 872

(1) (2) wfsten (3) T M (4)

[Question ID = 338][Question Description = 138_APS1_22Dec_Set1_Shift1_Q38]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]
3. 3 [Option ID = 1351]
4. 4 [Option ID = 1352]

19 Which one of the following is not a function of the Operating System ?

(1) Resource Management (2) File Management

(3) Networking (4) Processor Management
fFrefafed 9 = sirqfdn faeey %1 %@ =& 8 2

(1) H4F geEA (2) HEA FEEE

(3) eafdhm (4) HEE YEEA

[Question ID = 339][Question Description = 139_APS1_22Dec_Set1_Shift1_Q39]
1. 1 [Option ID = 1353]
2. 2 [Option ID = 1354]
3. 3 [Option ID = 1355]
4. 4 [Option ID = 1356]

200 Which of the following is not an example of a System Software ?

(1) Operating System (2) Debugger

(3) Software Driver (4) Adobe Photoshop
frefafaa o @ v faen Hieeser 1 e =& § 2

(1) e faws (2) SR

(3) WIRTR TEA (4) SIS HIRIIM

[Question ID = 340][Question Description = 140_APS1_22Dec_Set1_Shift1_Q40]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4. 4 [Option ID = 1360]

PROMPT

Intel 8085

g 8085



Topic:- APSENG_ENG_22DEC_S1

D Choose the correct antonym of the word given from the options below :
Formidable
(1) frail (2) comforting (3) dive (4) pioneer

[Question ID = 41][Question Description = 141_APS1_22Dec_Set1_Shift1_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

2)
Select the part of the sentence which has an error. In case of ‘no error’ select option IV.

The government has many new schemes/for people who wantto/start businesses in rural areas./No error

(1) (11) (1) (Iv)

1 @ 2 (I (3) (I 4) 1IV)

[Question ID = 42][Question Description = 142_APS1_22Dec_Set1_Shift1_Q42]
1 [Option ID = 165]
2 [Option ID = 166]
3 [Option ID = 167]
4 [Option ID = 168]

A wnN =

3) Choose the correct option to fill in the blank.

He writes so that I cannot read his letter.
(1) clearly (2) orderly (3) recklessly (4) illegibly

[Question ID = 43][Question Description = 143_APS1_22Dec_Set1_Shift1_Q43]
1 [Option ID = 169]
2 [Option ID = 170]
3 [Option ID = 171]
4 [Option ID = 172]

AW N =

4
;elect the correct option which exhibits the same relationship as the pair of given words.
boy : boyish

(1) tire : tireless (2) gold : golden

(3) whole : wholesome (4) move : moveable

[Question ID = 44][Question Description = 144_APS1_22Dec_Set1_Shift1_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

%) Choose the correct option to fill in the blank.

The marriage was performed according to Hindu ;
(1) riets (2) rights (3) rites (4) wrights

[Question ID = 45][Question Description = 145_APS1_22Dec_Set1_Shift1_Q45]
1 [Option ID = 177]
2 [Option ID = 178]
3 [Option ID = 179]
4 [Option ID = 180]

A wpN =



6) Fill in the blank with the most appropriate option to complete the sentence.

The workers have been for want of funds.
(1) laid ) laid of 3) laid off 4) Tlaid up

[Question ID = 46][Question Description = 146_APS1_22Dec_Set1_Shift1_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

) Select one word for the underlined phrase from the options given below :
One should not take up the bad habits of others.
(1) adopt (2) adapt (3) adept (4) advert

[Question ID = 47][Question Description = 147_APS1_22Dec_Set1_Shift1_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

8)
Select the correct option which exhibits the same relationship as the pair of given words.

War : Peace
(1) foe : adversary (2) erudite : ignorant
(3) fluent : glib (4) homely : plain

[Question ID = 48][Question Description = 148_APS1_22Dec_Set1_Shift1_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

%) Choose the correct option to fill in the blank.
She always wear clothes.
(1) dessent (2) dissent (3) descent (4) decent

[Question ID = 49][Question Description = 149_APS1_22Dec_Set1_Shift1_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

10)
Select one word for the underlined phrase from the options given below :

A person who lives alone and maintains very little contact with others lives a lonely life.
(1) Convivial (2) Socialite (3) Colonial (4) Recluse

[Question ID = 50][Question Description = 150_APS1_22Dec_Set1_Shift1_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

Topic:- APSENG_HIN_22DEC_S1



D S A e % fer T v R
(1) T (2) == (3) WA

[Question ID = 51][Question Description = 151_APS1_22Dec_Set1_Shift1_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

2 greiR T B HeTe w1 #
(1) WIS B (2) Y F T5A B B
(3) EaAH B (4) o H TS A
[Question ID = 52][Question Description = 152_APS1_22Dec_Set1_Shift1_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]

3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

3) :w ﬂEITH Eerrel E:E[UI",
Yk | U AR 2|
(1) S13aE (2) i (3) rhIfer (4)
[Question ID = 53][Question Description = 153_APS1_22Dec_Set1_Shift1_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]

3. 3 [Option ID = 211]
4. 4[Option ID = 212]

DI A e 1 9d ¥
(1) o/&Fe Ykl (2) AR SaFr (3) U e
[Question ID = 54][Question Description = 154_APS1_22Dec_Set1_Shift1_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

) ‘g T R 9% T R 5 SR R 2
(1) F (2) wH (3) E§EH
[Question ID = 55][Question Description = 155_APS1_22Dec_Set1_Shift1_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]

3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

6)
“HHamaEE R

ST T 3SR & |
(1) gof =<dHE (2) wHfery adaE (3) A qd

(4)

(4)

(4)



[Question ID = 56][Question Description = 156_APS1_22Dec_Set1_Shift1_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

7)

e W ged i g
(1) e (2) =W (3) T

[Question ID = 57][Question Description = 157_APS1_22Dec_Set1_Shift1_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

8)
‘1T’ ITeg 1 SiifelT ¥ 1 2
(1)  SAEATYERT (2)  FALAfTRT (3) AR

[Question ID = 58][Question Description = 158_APS1_22Dec_Set1_Shift1_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

9)
fgaarees 91 Y8 1 T3 hifod |
(1) I (2) Y= (3) Toem

[Question ID = 59][Question Description = 159_APS1_22Dec_Set1_Shift1_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

10)
‘et h SR T §
(1) A (2) dreA (3) T4

[Question ID = 60][Question Description = 160_APS1_22Dec_Set1_Shift1_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- APSENG_POLITY_22DEC_S1

1)
Onam is the main festival of
(1) West Bengal (2) Kerala (3) Karnataka

3o &1 74 T
(1) ufe=y ST (2) L (3) HAlRH

[Question ID = 61][Question Description = 161_APS1_22Dec_Set1_Shift1_Q61]
1. 1 [Option ID = 241]

(4)

(4)

(4) SAATIHT

(4) e

Tamil Nadu



2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) Pandit Bhimsen Joshi has been active in the area of :

(1) Literature (2) Classical Music
(3) Education (4) Journalism
vfed i St fore & | |fma € 2

(1) wrfee (2) ST

(3) foew (4) TR

[Question ID = 62][Question Description = 162_APS1_22Dec_Set1_Shift1_Q62]

1. 1 [Option ID = 245]

2. 2 [Option ID = 246]

3. 3 [Option ID = 247]

4. 4 [Option ID = 248]

3) Currency inflation occurs due to :
(1) Loss in production
(2) Increase in money supply and loss in production
(3) Increase in money supply

(4) Increase in production

HEremifd fore sror gt & 2

(1) Sedred 9 29

(2) HeNfd ¥ gfg qen e § 7-

() e H s

4) suEAH 9fg
[Question ID = 63][Question Description = 163_APS1_22Dec_Set1_Shift1_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]

3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4 How many Union Territories are there in India ?

(1) 8 2) 9 3) 7 4) 10
Id H fora e wew € 2
(1) 8 2) 9 3) 7 4) 10

[Question ID = 64][Question Description = 164_APS1_22Dec_Set1_Shift1_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5)



In the Constitution of India the Parliamentary System of Government is taken from the :

(1) American Constitution (2) Russian Constitution
(3) British Constitution (4) Swiss Constitution
R % Hfa"H H, WER F HHET JOTel Fal § Te0 H T 2

(1) ot dfaem (2) w Hiaum

3) fafesr wfaum (4) Teg diaum

[Question ID = 65][Question Description = 165_APS1_22Dec_Set1_Shift1_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6)
“To uphold and protect the sovereignty, Unity and Integrity of India” is a provision made in
the

(1) Fundamental Rights (2) Fundamental Duties

(3) Preamble of Constitution (4) Directive Principles of State policy

"G I FU], ThAl iR STEEA 1 FAIC WA SR ST 18 FA & fon” e
e ferar T 2

(1) Hifas sAfusRr (2) Hifers FH

(3) HfEem & gEre (4) T +ifa F Fdw

[Question ID = 66][Question Description = 166_APS1_22Dec_Set1_Shift1_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]
7} What is “Agmark” ?
(1) A cooperative society for egg production
(2) An agency of farmer in market place (Mandi) for agricultural products
(3) Quality assurance seal for the food items
(4

) Quality assurance real for consumer items
‘TR P E 2
(1) Sl IUEA i Teh Fearit |iHfd
(2) WElH wfu 3Rl & fore Tl 1t den
(3) ErEd Tl i UTEEl LT &
(4)  SUHET el i e SETEA Yol
[Question ID = 67][Question Description = 167_APS1_22Dec_Set1_Shift1_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]

3. 3 [Option ID = 267]
4. 4 [Option ID = 268]



8)
The Bhimbetka rock shelters are an archaeological site of the Palaeolithic period. It is located
in which Indian State ?

(1) Bihar (2) Madhya Pradesh (3) Haryana (4) Rajasthan
“fieiean! JeTs™ U i 1 Teh QO e & 1 98 g wida v=g | fem £ 2
(1) for=m (2) =AY (3) @R (4)  TSTEAH

[Question ID = 68][Question Description = 168_APS1_22Dec_Set1_Shift1_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9)

Which one of the following is called ‘black gold” ?

(1) Mica (2) Coal (3) Granite (4) Diamond
frefafea 9 ‘wmen 9’ ford a0 72

(1) &Y= (2) HIFe (3) AR (4) @

[Question ID = 69][Question Description = 169_APS1_22Dec_Set1_Shift1_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Tn India the diamond mines are situated in :

(1) Karnataka (2) Uttar Pradesh
(3) Madhya Pradesh (4) Tamilnadu
A H 1 T @ FE Ra R 2

(1) @AH (2) W IR

(3) H¥A YU (4) dfag

[Question ID = 70][Question Description = 170_APS1_22Dec_Set1_Shift1_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

Topic:- APSENG_GS_22DEC_S1

1)
When a bottle of scent is kept open in a corner of a room, its odour is felt in all parts of the
room. This is due to the phenomenon of

(1) Evaporation (2) Viscosity (3) Diffusion (4) Sublimation

S RSl SHHL < Teh i H He i slidel Getl Wl Sl &, o $8eht 14 HAL o 941 feed § 7eqy el
gl T 1 AT &% I Bl B |

(1) arsdtentol (2) vEEE (3) faeu (4) IHIEH

[Question ID = 71][Question Description = 171_APS1_22Dec_Set1_Shift1_Q71]




1 [Option ID = 281]
2 [Option ID = 282]
3 [Option ID = 283]
4 [Option ID = 284]

A W N -

2) Chemically dry ice is :

(1) Solid water (2) Solid oxygen
(3) Solid carbon dioxide (4) Solid nitrogen
TEEfF T 9§ Ysh aF

(1) 39 sa (2) 3 HATFSTA

(3) 39 e SEAES (4) 3 AEZSH

[Question ID = 72][Question Description = 172_APS1_22Dec_Set1_Shift1_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

3) The human eye forms the image of an object at its :

(1) Cornea (2) Iris (3) Pupil (4) Retina
e e R o 1 wfafers st € o1 -
(1) Rt W 2) omEE W (3) Hita W (4) EHW

[Question ID = 73][Question Description = 173_APS1_22Dec_Set1_Shift1_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

4)
No matter how far you stand from a mirror, your image appears erect. The mirror is likely to
be :

(1) Only Plane (2) Only Concave

(3) Only Convex (4) Either Plane or Convex

319 v & = fRat gl W we E, Arus wfdfara faen femm €1 97 <o @ Rl
2l

(1) e FHaa (2) oA 3TEAA

(3) Had 3T (4) HHdA T ITA

[Question ID = 74][Question Description = 174_APS1_22Dec_Set1_Shift1_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

5)



Which of the following is not a part of seed ?

(1) Plumule (2) Cotyledon (3) Pollen (4) Radicle
e o @i s o1 U feem w22
(1) WiFR () (3) W (4) T

[Question ID = 75][Question Description = 175_APS1_22Dec_Set1_Shift1_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

6()3ast-rif: glands are present in the inner lining of :

(1) Oesophagus (2) Mouth (3) Small Intestine (4) Stomach
et af-er ufeerd et 7 il Wag W

(1) wfEes & (2) HE® (3) DIE A F (4) STHEE *

[Question ID = 76][Question Description = 176_APS1_22Dec_Set1_Shift1_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

7£f someone is suffering from the problem of acidity after overeating, what is the remedy ?
(1) Lemon juice (2) Vinegar (3) Baking soda (4) Tamarind

afg FIE STcfereh @M o R STReral i HHE § 7% § o 39eh e #0182

(1) g™ (2) o (3) @WHaEEn el (4)  EHel

[Question ID = 77][Question Description = 177_APS1_22Dec_Set1_Shift1_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

8)

In order to prevent oxidation of potato chips during storage in sealed bags, chips manufactures
seal the packet with :

(1) Oxygen (2) Nitrogen (3) Hydrogen (4) Carbon dioxide
a1 fereq =1 &g el § SR FId T 3 SAfadio § 5= &g facg fmfa 363 i &g *d
€:

(1) SIS ol Sufeafa (2) FIEere i Iufeafd H

(3) TESISH & ufefa H (4) hlad SE sifFIEe &I suftafd §

[Question ID = 78][Question Description = 178_APS1_22Dec_Set1_Shift1_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]



%) Which of the following is not a primary colour ?

(1) Red (2)  Yellow (3) Blue (4) Green
fre o 9 1 v wafes 1 76 82
(1) (2) drem (3) e (4) =T

[Question ID = 79][Question Description = 179_APS1_22Dec_Set1_Shift1_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

10)  Universal Blood donor is :

(1) O Blood Group (2) A Blood Group
(3) AB Blood Group (4) B Blood Group
reiferh To-Te €

(1) O e (2) A HIE

(3) ABH U (4) B U9

[Question ID = 80][Question Description = 180_APS1_22Dec_Set1_Shift1_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

Topic:- APSENG_HIST_22DEC_S1

1)
In 1893 Swami Vivekanand participated in the “World Parliament of Religions” at :

(1) NewYork (2) London (3) Paris (4) Chicago
1893 H Tt fagenre 7 ‘fava ud geraen’ & e v foran oan ?
(1) =JFrh 2) @&A (3) R (4) Tor=mrm

[Question ID = 81][Question Description = 181_APS1_22Dec_Set1_Shift1_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

2)

Name the religious personality who exercised a great influence over Chhatrapati Shivaji ?
(1) Saint Tukaram (2) Guru Ramdas (3) Meerabai (4) Guru Nanak Dev
39 uiffes =afaa o1 AW FaRy =i Tsiiud RrEst w® agd 398 e ?

(1) Hd gwr™ (2) TE THEH (3) e (4) TE T <

[Question ID = 82][Question Description = 182_APS1_22Dec_Set1_Shift1_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]



) Who was the last independent Nawab of Bengal ?

(1) Jaffar Khan (2) Siraj-ud-Daulah
(3) Sarfaraz Khan (4) Shuja-ud-Daulah
ERGEIC e R REREIC IR IR

(1) STH @H 2) faus-se-dmn

(3) IS WM (4) YEN-38-<rel

[Question ID = 83][Question Description = 183_APS1_22Dec_Set1_Shift1_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

4 Rani Ahilyabai was ruler of ;
(1) Jhansi (2) Indore (3) Gwalior (4) Jaipur

T eafgeeE @t umde off |
(1) = 2) 3FaR (3) Tefera (4) AR

[Question ID = 84][Question Description = 184_APS1_22Dec_Set1_Shift1_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

5)
During the Indian Freedom struggle, who raised an army called “Free Indian Legion” ?
Choose one of the following options :

(1) Lala Hardayal (2) Ras Behari Bose

(3) Subhash Chandra Bose (4) V.D. Savarkar

R Tt Herd 3 SR frefafea 4 frem ‘wi sfew effsm’ wmes da1 99 2
(1) <N s&de (2) T foerd 5|

(3) HuH =g dd (4) SLE0. FEET

[Question ID = 85][Question Description = 185_APS1_22Dec_Set1_Shift1_Q85]

1. 1 [Option ID = 337]

2. 2 [Option ID = 338]

3. 3 [Option ID = 339]

4. 4 [Option ID = 340]

) Who of the following founded the slave dynasty ?
(1) Itutmish (2) Qutubuddin Aibak
(3) Razia Sultan (4) Alauddin Khilji
T[T S T GTATIF i o ?
(1) Fegaf (2) FIIEA T
(3) s g (4) oFceTseE faash

[Question ID = 86][Question Description = 186_APS1_22Dec_Set1_Shift1_Q86]




1. 1 [Option ID = 341]

2. 2 [Option ID = 342]

3. 3 [Option ID = 343]

4. 4 [Option ID = 344]

7)
Who of the following scholars, challenged in Invincible Yajnavalkya for debate ?
(1) Gargi (2) Maitreyi (3) Apala (4) Kanishka
frfafas § 4 forg fagm 71 som ar9acs =1 a-faarg & fau I < o 2
(1) It (2) e (3)  3{TE (4) wHfTeR

[Question ID = 87][Question Description = 187_APS1_22Dec_Set1_Shift1_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

8) Who founded the “Brahmo Samaj” ?

1) CR. Das 2) Raja Rammohan Roy
] )

(3) R.C. Dutta (4) Swami Vivekanand

"SEHl TS o HEATYE Hi 4 2

(1) Hr.eIR. g™ (2) TS AR T

(3) SH. TH (4) T frasER

[Question ID = 88][Question Description = 188_APS1_22Dec_Set1_Shift1_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

9)
Who among the following was the first India ruler, who established the primacy of Indian
Navy in the Arabic Sea ?

(1) Rajraja 1 (2) Rajendra I (3) Bhaskaran (4) Vivyanatham
frefafaa # | forg gom TR e 5 SRE QR H AR SR S el i 2
(1) TSR] 2) TSEI (3) HR=RTA (4) foegrem

[Question ID = 89][Question Description = 189_APS1_22Dec_Set1_Shift1_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

10 Who re-introduced ‘Jaziya’ ?

(1) Awurangzeb (2) Jahangir (3) Akabar (4) Shah Jahan
‘s’ s fore e g% foRan ?
(1) simE (2) WERR (3) el (4) Sl

[Question ID = 90][Question Description = 190_APS1_22Dec_Set1_Shift1_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]



3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- APSENG_NATMOV_22DEC_S1

D The Sepoy Mutiny started from :

(1) Gwalior (2) Jhansi (3) Agra
Af7 fage =t Y& g
(1) TErerR (2) @i (3) SR

[Question ID = 91][Question Description = 191_APS1_22Dec_Set1_Shift1_Q91]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

2) When was Bengal partitioned ?

(1) 1920 (2) 1918 (3) 1911
STTel kel faifsrd gat «n?
(1) 1920 (2) 1918 (3) 1911

[Question ID = 92][Question Description = 192_APS1_22Dec_Set1_Shift1_Q92]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

(4) Meerut
() ww
(4) 1905
(4) 1905

3) Who said the following, “Give me blood and I will give you freedom” ?

(1) Lala Lajpat Rai (2)

(3) Chandrashekhar Azad (4) Bhagat Singh
“qu g3 gA o H qRE el S R et o ?

(1) e osud T (2) gGum™ =g AE
(3) THEUE R (4) T fHe

[Question ID = 93][Question Description = 193_APS1_22Dec_Set1_Shift1_Q93]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

4 “India war of Independence 1857” is written by :

(I) S.N. Sen (2) R.C. Majumdar
(3) V.D. Savarkar (4) S.B. Chaudhari
‘7 gfean A 3w gfedey 1857 ot of

(1) THTIHT (2) SR H HARR
(3) o Sf HWETH (4) THE =

[Question ID = 94][Question Description = 194_APS1_22Dec_Set1_Shift1_Q94]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]

Subhash Chandra Bose



3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

®) Who, among the following, was not associated with the Revolt of 1857 ?

(1) Maharaja Ranjit Singh (2) Nana Sahib
(3) Begum Hazrat Mahal (4) Khan Bahadur
frefafeaa § % 1857 & fadie & wwefua 78 €2

(1) =S i fog (2) A TR

(3) SNTH &ILd Had (4) @H FBEL

[Question ID = 95][Question Description = 195_APS1_22Dec_Set1_Shift1_Q95]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

6) Which Governor General abolished Slavery ?

(1) John Shore (2) William Bentick

(3) Ellenborough (4) Charles Cornwallis
Topgy Tet ST A T[ATHT HHI Shi 2

(1) W SHE ¥R (2) faferm dfees

(3) WS (4) = FHaTaH

[Question ID = 96][Question Description = 196_APS1_22Dec_Set1_Shift1_Q96]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

7). Who authored the book ‘Poverty and the Un-British Rule in India’ ?

(1) Dadabhai Naoroji (2) Ramesh Chandra Dutt
(3) Gopal Krishna Gokhale (4) Amartya Kumar Sen
‘el we g o fofew wa 31 e’ forar o fodd ?

(1) 1 8 st (2) 9 E 9

(8) T F TR (4) T AR T

[Question ID = 97][Question Description = 197_APS1_22Dec_Set1_Shift1_Q97]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8)



Banda Bahadur, a Sikh leader who led a revolt against the Mughals after the assassination of
Guru Govind Singh was capture and execute during the region of

(1) Bahadur Shah (2) Awurangzeb
(3) Jahangar Shah (4) Farrukh Siyar
s¢1 FRIgY, Ueh @ =d, foeH % Tiifds T8 i e & 1€ g7l < foeg fage =1 Age foan, =l
F I SRIA Uehe femn T 3iv AR fezn A
(1) <@gt ve (2) TS
(3) SEFRYE (4) HeE fHIR
[Question ID = 98][Question Description = 198_APS1_22Dec_Set1_Shift1_Q98]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]

3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

9)
By which one of the Acts did the Governor General of Bengal became the Governor General
of India ?

(1) The Regulating Act (2) The Pitt’s India Act
(3) The Charter Act of 1793 (4) The Charter Act of 1833

fr=fafeaa ° fg wae & g0 97e &1 T e YA &1 e ST &1 2
(1) i (2) Tuew e
(3) MR T 1793 (4) =Y TE 1833

[Question ID = 99][Question Description = 199_APS1_22Dec_Set1_Shift1_Q99]

1. 1 [Option ID = 393]

2. 2 [Option ID = 394]

3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

10 When did the British Government start ruling India directly ?

(1)  After the battle of Plassey (2) After the battle of Panipat
(3) After the war of Mysore (4) After Sepoy Mutiny
farfeer Terr 3 el R X HiEn A AT GRY T ?

() e # % e () T F e e

3) WIS F 9. (4) Hfe fagie & @

[Question ID = 100][Question Description = 200_APS1_22Dec_Set1_Shift1_Q100]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

Topic:- APSENG_AGRI_22DEC_S1



1) Which of the following is generally grown under Shady Trees ?

(1) Ginger (2) Fennel (3) Onion (4) Coffee
freAfafea o fd wm: gail i o § S S & 2
(1) &% 2) dw® (3) @S (4) <RI

[Question ID = 101][Question Description = 201_APS1_22Dec_Set1_Shift1_Q101]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

2) Black pepper is :

(1) Seed of a tree (2)  Fruit frm a bamboo
(3) Seed of an annual crop (4)  Fruit of a climber
el i €

(1) 34 H1 &S (2) @Y %l e

(3) UFAHMA ®HA F1 9l (4) UH & F e

[Question ID = 102][Question Description = 202_APS1_22Dec_Set1_Shift1_Q102]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

3)

Many countries such as Japan, USA, Bangladesh and Nepal have objected to frequent ban
imposed by India on export of :

(1) Cotton (2) Wheat (3) Onion (4) Ginger

o <Y1 1Y S, 3 TH T, diTareyt sk qure 7 gt 8 ° uid gR e axg & frafa O @t fady
for 2

(1) 9™ 2) i’ (3) =@M (4) ST

[Question ID = 103][Question Description = 203_APS1_22Dec_Set1_Shift1_Q103]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

4)

Which of the following is an insecticide of plant origin ?

(1) Azadirachtin (2) Malathion (3) Endosulphan (4) Allethrin
frefafea § 919 ge1 #1 R #=E 2

(1) sAstefaRa (2) HenfuEE (3) USHTHA (4) Uiy

[Question ID = 104][Question Description = 204_APS1_22Dec_Set1_Shift1_Q104]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]



%) Most exported tea from India is tea.

(1) Green (2) Lemon (3) Black
Id ¥ wad afiess gen § fafa =t 9. e T4 ¥
1) W+ 2) ©HA (3) =ik

[Question ID = 105][Question Description = 205_APS1_22Dec_Set1_Shift1_Q105]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

6)
Black rust of wheat is caused by :
(1) Fungus (2) Bacteria (3) Virus

g H e fohg B o R
(1) e (2) i (3) ey

[Question ID = 106][Question Description = 206_APS1_22Dec_Set1_Shift1_Q106]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

7)
Menthol is obtained from :
(1) Mints (2) Lavender (3) Eucalyptus

HeHTaA ¥ F g g B
(1) Y& (2) wEeR (3) ghfaed

[Question ID = 107][Question Description = 207_APS1_22Dec_Set1_Shift1_Q107]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

8) Which of the following fruit crops is Salt Sensitive ?

(1) Date (2) Grapes (3) Banana
frefafea #§ 6 @ wil &1 wea THE HaeTeid 8 ?
1) TR () R (3) el

[Question ID = 108][Question Description = 208_APS1_22Dec_Set1_Shift1_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

(4)

(4)

(4)

(4)

(4)

(4)

(4)

Masala

HHTT

Nematode

TAF

Camphor plant

FYL F dre

Lemon



%) Most troublesome pest of brinjal is :

(1) American bollworm (2) Shoot and fruit borer
(3) Nematode (4) Jassids

freafafea o 9= Sa— e F3H Je ST 9eE

(1) oW siaad (2) ol U GlEHHS

(3) FIFMH 4) SifFs

[Question ID = 109][Question Description = 209_APS1_22Dec_Set1_Shift1_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

10)
Cabbage, Cauliflower, Kale Broccoli and Kohlrabi are different varieties of same species
produced by :
(1) natural selection (2) breeding
(3) artificial selection (4) genetic modification
T, Eet e, U, SRl 3T Ficesl 99 geirdl w1 fafie sysfaat o S €
(1) SThfd = (2) 9
(3) TUMHE YsTH (4) STIERF HemEA
[Question ID = 110][Question Description = 210_APS1_22Dec_Set1_Shift1_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]

3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

Topic:- APSENG_POP_22DEC_S1

1)

Institute of Town Planners is located in :

(1) Bengaluru (2) Rohtak (3) New Delhi (4) Lucknow

TR TR SRR HE ¥ zorfud g1
(1) IE 2) Ugdw (3) % T (4) @ETH

[Question ID = 111][Question Description = 211_APS1_22Dec_Set1_Shift1_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

2)



The current tiger population in India stands at 2967. This has been determined through a
process in 2021 called :

(1) Census (2) Enumeration

(3) Remote Sensing (4) Demographics

WG H A =i SHe 2967 1 sEeR fERer 2021 H we Wik o ded foan e, 5
g

(1)  SFTOFT (2) IO
(3) HR HaeA (4) SAHITEH

[Question ID = 112][Question Description = 212_APS1_22Dec_Set1_Shift1_Q112]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

3)

The 2021 census of India will be the Indian census :

(1) Fifteenth (2) Sixteenth (3) Fourteenth (4) Seventeenth
2021 < R SO BRI TRATE SRTIAT :

(1) dggel 2) Hrordt (3) wiggdl (4) et

[Question ID = 113][Question Description = 213_APS1_22Dec_Set1_Shift1_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

4 Which one of the following is not a part along the western coast of India ?

(1) Nhava Sheva (2) Marmugao (3) Tuticorin (4) Kochi
Frefafed § 9 ®F |1 wRd % ufved 92 1 foen @& &2
(1) e (2) ETHmE (3) IR (4) =T

[Question ID = 114][Question Description = 214_APS1_22Dec_Set1_Shift1_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

5)

Which is not a major factor that leads to decrease or increase in population of a city ?
(1) Birth rate (2) Death rate (3) Migration (4) Development
I T U 951 HRE A&l ¢ Sl Ueh Ve I SHAS &l FHH A1 AR Hidl & 7

(1) SHR 2) TR (3) VA= 4) fowmm

[Question ID = 115][Question Description = 215_APS1_22Dec_Set1_Shift1_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]



6)
Which of the following energy sources does not cause any environmental pollution or damage
to biodiversity ?

(1) Nuclear energy (2) Solar energy

(3) Thermal power (4) Hydroelectric projects
forfafaa St Sl 8 0 Tt g =1 S fafrem & af T g §2
(1) T % (2) ¥

(3) g fagd =i (4) STerfeEd SRR

[Question ID = 116][Question Description = 216_APS1_22Dec_Set1_Shift1_Q116]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

7) Environment Protection Act (EPA) came into force in :

(1) 1984 (2) 1986 (3) 1988 (4) 1990
qafeT Hieror sfufaem (3 9 ) wd @y e ?
(1) 1984 (2) 1986 (3) 1988 (4) 1990

[Question ID = 117][Question Description = 217_APS1_22Dec_Set1_Shift1_Q117]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

8) Which of the following is not related to climate change or global warming ?
(1) Melting of glaciers and ice sheets (2) Rise in Sea level
(3) Changes in rainfall pattern (4) Earthquakes
frefafaa § @ sierarg aRads =1 et anfdn 4 grafed 78 €2
(1) TeIferR SR ok &) 9l &1 frger (2) HYE! q 1 S
(3) ol gfqey § dgama (4) &9
[Question ID = 118][Question Description = 218_APS1_22Dec_Set1_Shift1_Q118]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]

3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

%) Major gas responsible for causing global warming is :

(1) Carbon dioxide (2) Methane
(3) Nitrous oxide (4) Ozone
T AT o fae SaeerEt v g2

(1) A ST TS (2) e

(3) EeH AEEE (4) SIS

[Question ID = 119][Question Description = 219_APS1_22Dec_Set1_Shift1_Q119]
1. 1 [Option ID = 473]



2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

10 Which of the following is not correctly matched ?

(1) Angamis - Nagaland (2) Birhors - Jharkhand
(3) Khas - Arunachal Pradesh (4) Todas - Tamilnadu
Frerfeafiae & @ # o Gd gifer & 37

(1) STH - Arete 2) foEe - sREve

(3) TH - JEEA JeI (4) el - aferg

[Question ID = 120][Question Description = 220_APS1_22Dec_Set1_Shift1_Q120]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

Topic:- APSENG_GEOG_22DEC_S1

1) Which one of the following is not located in the Mediterranean Climate Region ?

(1) Spain (2) Italy (3) Greece
frerfafed | o sniafies Soarg &= § frog 7@ & 2
1) ¥ (2) gl (3) W=

[Question ID = 121][Question Description = 221_APS1_22Dec_Set1_Shift1_Q121]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

2) Largest resources of Copper ore in India are in :

(1) Gujarat (2) Meghalaya
(3) Madhya Pradesh (4) Telangana
A H diel Sl 37%R 1 Gord o8] 1Y © ¢

(1) TR (2) HETEr

(3) HeT Hew (4) AT

[Question ID = 122][Question Description = 222_APS1_22Dec_Set1_Shift1_Q122]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

3)
Which of the following is the first coal mines in Inda ?
(1) Dhanbad (2) Jharia (3) Raniganj

frafafed § 9 s 6 ardt it go9 FEe 3 @H 82
(1) HAsE (2) e (3) TS

(4) Sweden

(4) HEreA

(4) Asansol

(4) SEAEA



[Question ID = 123][Question Description = 223_APS1_22Dec_Set1_Shift1_Q123]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

4)

Cotton Crop Flourishes in :

(1) Black soil (2) Red soil (3) Laterite (4) Alluvial Soil
FIH FHA Ferdl ¢ :

(1) el fogr o (2) e fagh A (3) W H (4) el gt o

[Question ID = 124][Question Description = 224_APS1_22Dec_Set1_Shift1_Q124]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

5 Which soils are formed by the sediments brought down by the rivers ?
(1)  Alluvial soils (2) Black soils (3) Red soils (4) Laterite

form firgt o frmifor =feai gra e o srewmEl | €ar 2 2
(1) el fagt (2) et fagr (3) e fagt (4) TR

[Question ID = 125][Question Description = 225_APS1_22Dec_Set1_Shift1_Q125]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

6)

Which of the following is properly known as “The Sugar Bowl of India” ?

(1) Muzaffarpur  (2) Meerut (3) Saharanpur (4) Muzaffarnagar
frefafan & @0 ua &1 == # Fe’ T H A § 2

(1) HSTFRIX (2) e L) (3) "l (4) HSFRL TR

[Question ID = 126][Question Description = 226_APS1_22Dec_Set1_Shift1_Q126]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

7} Silent Valley is located in :

(1) Uttarakhand (2) Kerala

(3) Karnataka (4) Arunachal Pradesh
(1) IWEvE H (2) HAH

(3) FAeH H (4) STEUTEA YU H

[Question ID = 127][Question Description = 227_APS1_22Dec_Set1_Shift1_Q127]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]



4. 4 [Option ID = 508]

8)

Which of the following is a non-metallic mineral ?

(I) Bauxite (2) Magnesium (3) Gypsum (4) Manganese
frefafea 8 9 w9 a1 g wfTs &2

(1) @R (2) HifeEm (3) o (4) HTS

[Question ID = 128][Question Description = 228_APS1_22Dec_Set1_Shift1_Q128]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

9)

Largest part of Thar desert is in ;

(1) India (2) Iran (3) Saudi Arabia (4) East Africa
IR HEEIel 1 Wl =g feem H 2

(1) Rd 2) TH (3) HSHI I (4) YT TR

[Question ID = 129][Question Description = 229_APS1_22Dec_Set1_Shift1_Q129]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

100 The Inter Tropical Convergence Zone (ITCZ) normally occurs near the :

(I) Arctic (2) Tropic of Cancer
(3) Tropic of Capricorn (4) Equator

SR IhfeaH SAERT & WHRG B ©

(1) 3ehfe®h (2) e @l

(3) weRL @ (4) oFeA T

[Question ID = 130][Question Description = 230_APS1_22Dec_Set1_Shift1_Q130]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

Topic:- APSENG_CA_22DEC_51

1)
The WHO and UN Postal Agency released a commemorative stamp on May 9t 2021 to
mark the 40t anniversary of the eradication of which disease ?

(1) Cholera (2) Small Pox (3) Malaria (4) Polio
Toeg UH 371 3iR P U7 Ured TS ) U TR ST foshe 9 W8 2021 &1 fhe dimi & S¥ged &
40 df aie i fafed e & fou ek ?

(1) T 2) ==F (3) wafen (4) difeEr



[Question ID = 131][Question Description = 231_APS1_22Dec_Set1_Shift1_Q131]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

2)
Name the country which was the top source of foreign direct investment (FDI) into India for
the second consecutive financial year ?

(1) Singapore (2) China (3) Russia (4) Sri Lanka
HiF I < IR g8 IR YR § youet faeelt e (e €1 18) 1 Heil=a & @172
(1) femg (2) = (3 w9 (4) At

[Question ID = 132][Question Description = 232_APS1_22Dec_Set1_Shift1_Q132]

1. 1 [Option ID = 525]

2. 2 [Option ID = 526]

3. 3 [Option ID = 527]

4. 4 [Option ID = 528]

3)
Which among the following banks has launched the instantaneous overdraft facility ‘Insta
Flexicash’ to provide instant OD online ?
(1) HDEC Bank (2) ICICI Bank

(3) Canara Bank (4) SBI Bank

frefafaa o feg o 3 arerfas sietgme gfaen ' w1 v o' @i fFar =) arekfas o €
AT 3T HA ok feaw ?

(1) T Tk FH (2) 3 HI e Hi AR o

(3) T HF (4) TUFE e dF

[Question ID = 133][Question Description = 233_APS1_22Dec_Set1_Shift1_Q133]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

4)

M. Nethra the 13t year old appointed as ‘Goodwill Ambassador to the poor’, by the United
Nations Association for Development and Peace is from which city ?

(1) Madurai (2) Hyderabad (3) Chennai (4) Coimbatore
. 731 TS g i anferen i i, Saa e o fasm oin wifa 99 7 ' efaa vegst i g
YR’k ®Y H Al g, ol fRE IR H §?

(1) wguE (2) @euEE (3) =g (4) HREEI

[Question ID = 134][Question Description = 234_APS1_22Dec_Set1_Shift1_Q134]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

5)



In which state Maternal Mortality Ratio (MMR) recently fell further ?

(1) Kerala (2) Tamil Nadu (3) Gujarat (4) Andhra Pradesh
fohe T3 =l W99 S (9 TH R) H 7 & F iR o1 @ 2
(1) (2) df g (3) TN (4) Y HW

[Question ID = 135][Question Description = 235_APS1_22Dec_Set1_Shift1_Q135]

1. 1 [Option ID = 537]

2. 2 [Option ID = 538]

3. 3 [Option ID = 539]

4. 4 [Option ID = 540]

6)
The Union Home Ministry has approved the automated facial recognition system by the
NCRB, New Delhi, for better identification of criminals, missing children etc. What is the full
form of NCRB ?

(1) National Civil Records Bureau (2) National Criminal Records Bureau
(3) National Crime Recovery Bureau (4) National Crime Records Bureau

TE HATGE 7 Tk H R W 2 feeett % Rriee wia emien fawew @ wiefa & @fe
STOUTYRN 1 T8, A Sedl i Jea Sgad qiieh | 1 5T Feh | TA HY TR = &l T 98 Fa1T |

(1) +vHa fafaa @is =1 (2) e TR wiew =
(3) A shEH Tl =g (4) TYEA HEH Ehied =

[Question ID = 136][Question Description = 236_APS1_22Dec_Set1_Shift1_Q136]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

7)

Which state/ UT has prepared Poultry Policy 2020 for the 1% time to boost poultry production
in the region ?

(1) Assam (2) Puducherry (3) Odisha (4) Jammu and Kashmir
T UIeH AR i FeTEl o & o7 fohd T3 o S 9ee = FFiarer diterst 2020 STRT ot qget
ELY

(1) 19H 2) Yg= (3) sifesm (4) < 3iX HYER

[Question ID = 137][Question Description = 237_APS1_22Dec_Set1_Shift1_Q137]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

8)



In November 2021, Indian Air Force bought two Mirage 2000 aircrafts from which
country ?

(1) France (2) U.K. (3) Russia (4) U.S.A.
TFeresy 2021 H, SR SREAT 3 <1 fEet 2000 g€ A fRg A @it ® 2
(1) wE (2) I (3) w4 (4) T

[Question ID = 138][Question Description = 238_APS1_22Dec_Set1_Shift1_Q138]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

%) Which University won the Khelo India University Games 2021 ?

(1) Delhi University (2) Jawaharlal Nehru University
(3) Banaras Hindu University (4) Punjab University

fory farvaferamera = @l gfean fava fagre™ @« 2021 Siar?

1) feeelt favafarme (2) e e favafges

(3) ARy fEg favafermer™ (4) 9sie favafaemera

[Question ID = 139][Question Description = 239_APS1_22Dec_Set1_Shift1_Q139]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

10)

What is the name of the first human robot that has been developed by ISRO for its space
mission ?

(1) Vyommitra (2) Vayusana (3) Pragya (4) Suryavanshi
&l Hiel Uil ol A Sqrzy fSreent foehmd o g SR Sit (30) F 319 ety fase o fog
€7

(1) =t (2) S (3) W& (4) el

[Question ID = 140][Question Description = 240_APS1_22Dec_Set1_Shift1_Q140]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

Topic:- APSENG_UP_22DEC_51

1)
Which district in Uttar Pradesh is famous for leather works ?

(1) Agra (2) Meerut (3) Jhasi (4) Mathura
THS & HE & fau ST W &1 A o fien ufigg @2
(1) () e (3) (4)

[Question ID = 141][Question Description = 241_APS1_22Dec_Set1_Shift1_Q141]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]



3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

2) Anand Bhavan historic house museum is located in :

(1) Prayagraj (2) Lucknow (3) Aligarh (4) Kanpur
e Yo A Ufaes waq use wwEl o § 2
(1) ST (2) &S (3) e (4) W

[Question ID = 142][Question Description = 242_APS1_22Dec_Set1_Shift1_Q142]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

3)
PMMV (Pradhan Mantri Matru Vandana) week was organized in September 2021 in which
of the following cities of Uttar Pradesh ?
(1) Rai Bareli (2) Ayodhya (3) Saharanpur (4) Amethi

fodar 2021 # vu™ w3 A §& (PMMYV ) Hwre =l s Hefafad § 9 3w uew o g ot
Hgsne?
(1) T =¥t (2) sEEm (3) FEAY (4) S

[Question ID = 143][Question Description = 243_APS1_22Dec_Set1_Shift1_Q143]

1. 1 [Option ID = 569]

2. 2 [Option ID = 570]

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

4 Van Mahostav, an annual tree planting festival is celebrated in the month of :

(1) July (2) September (3) June (4) January
9 Helchd, Ueh aiftieh Jav Hetedd forg wén § 9AmE S § 2
(1) e (2) faawR (@) W (4) SR

[Question ID = 144][Question Description = 244_APS1_22Dec_Set1_Shift1_Q144]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

5)
Which of the following cities is not situated on the banks of Gomati river ?
(1) Lucknow (2) Lakhimpur Kheri (3) Ayodhya (4) Jaunpur

frerfafed § =9 @1 s dad 98 & 92 92 feyd =81 &2
(1) w&ETH (2) EEHE S (3) sEEn (4) SR

[Question ID = 145][Question Description = 245_APS1_22Dec_Set1_Shift1_Q145]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]



6) The revolt of 1857 began in which city in Uttar Pradesh ?

(1) Lucknow (2) Aligarh (3) Meerut (4) Kanpur
1857 1 faRIE &l YEATT ST YW o fohe et § g8 ot ?
(1) e () e () W@ (4) FAE
[Question ID = 146][Question Description = 246_APS1_22Dec_Set1_Shift1_Q146]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]
7} Which university was founded by Madan Mohan Malviya ?
(1) Aligarh Muslim University (2) Banaras Hindu University
(3) Allahabad University (4) Lucknow University
He Hied Hierdd ford favafermerm & geamges 92
(1) @i giem foavafamm (2) =rE feg favafamma
(3) zomEIEE favafame™ (4) e favafaare
[Question ID = 147][Question Description = 247_APS1_22Dec_Set1_Shift1_Q147]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]
8) Out of the following places, which place is famous for textile ?
(1) Kanpur (2) Varanasi (3) Agra (4) Meerut
frefafad # | =M € srTe Yo ol o fog ufes 82
1) HER (2) @R (3) S (4) W@
[Question ID = 148][Question Description = 248_APS1_22Dec_Set1_Shift1_Q148]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]
9)
In which of the following districts are ceramic products made ?
(1) Fatehpur (2) Firozabad (3) Bulandshar (4) Gorakhpur
frerfefa o forey 3 =1 gt =1 e sFS e 2
(1) TR (2) fosmeR (3) IR (4) TER

[Question ID = 149][Question Description = 249_APS1_22Dec_Set1_Shift1_Q149]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

10)



When was the battel Aligarh fought during the second Anglo-Maratha was at Aligarh fort ?
(1) September 1803 (2) October 1803 (3) September 1802 (4) October 1802

steig foret ® fgdia orive-TeT 98 & SR STellve i TSR & orel T8 o ?
(1) fadsw 1803 (2) TR 1803 (3) fad=w 1802 (4) TR 1802

[Question ID = 150][Question Description = 250_APS1_22Dec_Set1_Shift1_Q150]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]






